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Bas. Math,

B.C.A. (Part-]) EXAMINATION, 2019
(Faculty of Science)
(Three-Year Scheme of 10+2+3 Pattern)

BASIC MATHEMATICS - 132

Time Allowed : Three Hours . Maximum Marks : 100’

Answer of all the questions (short answer as well as descriptive) are to be given in the main answer-book only.

Answers of short answer type questions must be given in sequential order. Similarly all the parts of one

question of descriptive part should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer - book.

Write your roll number on question paper before start writing answers of questions.

PART-I: (Very Short Answer) consists of 10 questions of 2 marks each. Maximum limit for each question is up
to 40 words.

PART-11: (Short answer) consists of 5 questions of 4 marks each. Maximum limit for each question is up to
80 words.
PART - 111 :(Long answer) consists of 5 questions of 12 marks each with internal choice.

' PART -1

1. Very short answers type questions.

«@ Find the domain of the function K .

x

vb) 1ff:R — R, where f(x)=22, for all x¢ R then find /=1 (9).

1 4
) IfA+B=[z ﬂ and A—B=[2 3J,thenﬁndﬂandB. *

3 1
@ IfA= 3 4 __3 and B=|4 -2 |[.thenfind (AB)T.
1 -2° 6 3 0

LA IHfy=mx+C andy=myx+ Cpare two straight lines such that m'my = — 1, find the relation
between these lines. .
Solve the equation 2% — 2x—8=0.

Find the mode of the following data :

16, 19, 19, 20, 16, 19, 20, 21, 24, 19, 16, 22, 16, 18, 20, 16, 19.

J)  Define mean square deviation.

M Write down the relation between np_ and ag. .

®s

Pind the probability that there are 53 Sundays in a year.

=
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PART-II

2. Attemptall the parts:

(@  Prove that the identity function I, on the non empty set X is a one-one onto function.

123 2 1
“b) lfAr[_4 { O]andB- Iii : , then find AB and BA.

4c)  Show that the pointa (2, 5), (4, 6) and (8, 8) are Collinear.
1  Calculate the mean for the following data :

Class : 6-10 10-16 | 15-20 | 20-26 | 26-30 | 30-35 | 36-40 | 40- 46
Frequency : 5 6 15 10 b 4 2 2
{® How many Committees consisting of 4 persons including a given Chairperson can be formed
from a group of 10 persons ?
. PART-III

Attempt all the following questions by taking any two parts from each question :

8. _@ Iff:R->Randg:R - Rarethe functions, where f(x)=2x+ 3 and g(x) =x2—1, forall xe R,
then find (f+ g)(x), (£.8)(x), (f+ g} — 3) and (f.g)(5).

(®  Show that the function /: R — {3} — R—{1}. where f(x) =

2
— S.forallxs_R—{S}isa

bijection.
:/(c) Iff:R—>Randg:R — R are two functions such that (gof) (x) = sin®x and (fog)(x) = sin x2, for
all xe R, then find f and g. *
X a a
i, (a) [Evaluatethedeterminant A=|a x a
a4 a x

@  Find the inverse of the matrix A =

= =
QO = W
-]

() Solve the following system of linear equations by Camer's rule
x+y+2=7 x2+2y+3z=16, x+3y+4z=22.

WB. @) Find the equation of the straight line perpendicular to the line 5x— 2y =8 and passing through

the point of intersection of the lines 4x+y—1=0and 7x— 3y— 356 =0.

()  Find the equation to the circle whose one of the diameter is the line segment joining the cent.res
of the circles 2% +y% +6x— 14y —1=0 and 22+ y2 — 4x+ 10y — 2=0.

&  For what value of k, the equation (4 — k)22 + 2(k + 2)x + (8k — 1) = 0 will have equal roots ?

132 https://www.u01'20niine.cor11

WOod' dUIfUOION MMM //:sdny



WO UIUOION MMM/ Sdllq

https://www.uoronline.com

(@  Calculate the median for the following cumulative frequency distribution :

Less than (x;): 20 30 40 50 60 70 80 90 100
Frequency (f;) : 0 4 16 30 46 66 82 92 100

.@®  Calculate the standard deviation for the following frequency distribution :

(xj):] & 16 26 36 46 66 66
¢i): 1 5 12 22 17 9 4

+(¢)  Calculate the Coefficient of correlation for the following bivariate distribution :

(x;):|] 66 66 67 67 68 69 70 72
i):] 67 68 65 68 72 72 69 71

J8)  Find the probability of getting a total of atleast 6 in a simultaneous throw of three dice.

®  One card is drawn from a well-shuffled pack of 52 cards. Find the probability that the card
drawn is either red or a king.

) Twodice are thrown simultaneously. Find the probability that the total sum on the two faces is
davisible by 3 or 4.
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